Wednesday 15™ July 2020 - Maths

Daily Arithmetic

733,659 + 27,365 = Zof 70 =
740,000 + 70 = 6.13 + 0.05 =
57,738 - 5829 =

9720 +5 =

15.07.20 Two digit multiplication

For any help or extra practise check out this website:
https://classroom.thenational.academy/lessons/decimals-to-represent-two-digit-multiplication

Fluency

1. 2. 3 4.

Reasoning

There are 15 biscuits in a packet. A shop orders 156
packets. How many biscuits will be in the 156 packets?

A school buys 172 boxes of pencils. Each box has 12
pencils. How many pencils has the school bought?

A wholesaler sells apples for 17p each. A grocer
buys 197 apples. How much will they cost?

It takes 18 minutes to make a toy car. How many
minutes will it take to make 205 cars?



https://classroom.thenational.academy/lessons/decimals-to-represent-two-digit-multiplication

Wednesday 15™ July 2020 - English

https://classroom.thenational.academy/lessons/identifying-the-features-of-a-text-d0fbOa

Open the Oak academy website above. Today you are going to be looking at
prediction

Read the text Part of your World, a Twisted Tale' and make predictions for
alternative endings.

There is a video you can watch should you need any support.

Today's spellings to learn:

Spellings Cover and Write |Cover and Write | Cover and Write

referring

referred

referral

preferring

preferred

transferring

transfer

transferred



https://classroom.thenational.academy/lessons/identifying-the-features-of-a-text-d0fb0a




